VCE & PDF https://www.passapply.com/hpe6-a43.html
2024 Latest passapply HPE6-A43 PDF and VCE dumps Download

PassApply.com

HPEG-A43°%4

Implementing Aruba Location Services

Pass HP HPEG6-A43 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.passapply.com/hpe6-a43.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by HP Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

HPE6-A43 VCE Dumps | HPE6-A43 Practice Test | HPE6-A43 Study Guide 1/3


https://www.passapply.com/hpe6-a43.html
https://www.passapply.com/hpe6-a43.html
https://www.passapply.com/hpe6-a43.html

VCE & PDF https://www.passapply.com/hpe6-a43.html

2024 Latest passapply HPE6-A43 PDF and VCE dumps Download
P:

1I8S Annlv com
doof ’-_:Jl'l_\f.-.-w-

QUESTION 1

A customer has an Aruba Wi-Fi deployment with 20 AP-325s around their 100,000 square foot (9,290.30 square meter)
facility. The customer now wants to implement Aruba location services with the use of a venue Meridian app, along with
Bluetooth as the technology for positioning.

Which type of information should the network administrator share with the customer to prepare them to meet their goal?

A. The customer can use their AP-325s as beacons, but may require more battery- powered beacons for an optimized
indoor positioning deployment

B. The customer will not need to purchase any more equipment since they already have AP-325s

C. The customer will need to purchase USB beacons for management, but otherwise their AP-325s will handle the
indoor positioning.

D. The customer will need to swap out their AP-325 deployment with battery-powered beacons, as they cannot be
mixed in a deployment.

Correct Answer: C

QUESTION 2

A customer plans to deploy beacon management for their Aruba mobile engagement solution. The customer has five
beacons in the store used for proximity push notifications, all of which are located within a 5,000 square foot (464.52
square meter) area. The store has a total of 50,000 square feet (4,645.15 square meters). The customer plans to
purchase AP-325s to fulfill the beacon management requirements.

How many AP-325s will the customer need to purchase?

Al

B. 2

C.20

D. 50

Correct Answer: C

QUESTION 3

Campaigns can be tied to which beacons types?
A. placed location beacon

B. placed proximity beacon

C. unplaced location beacon

D. unplaced proximity beacon
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Correct Answer: B

QUESTION 4

A network engineer plans an OAuth login scenario with ClearPass for mobile device authentication with a venue app.

Which step occurs first?

A. The client device sends a token to the info URL.
B. The client device requests a token.

C. The user creates a guest user in ClearPass.

D. The user logs into the Meridian app.

Correct Answer: A

QUESTION 5

What are the purposes of a node in Meridian routing? (Select two.)

A. to indicate the exit from a building

B. to add a placemark to a route

C. to determine the preferred route

D. to add portals connecting different floors E. to mark the start and end of a route

Correct Answer: BE
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